 (
Can you solve these time problems? Write the answer in the box. 
)
	
The train set off at 12.35pm. It took 5 minutes to arrive at the next station. What time did it arrive?





	
The train arrived at Derby station at 9.15am. It took 10 minutes to get from Nottingham station. What time did it depart?






	
The train from York to Skegness takes 10 minutes. It sets off from York at 4.55pm. What time does it arrive in Skegness?







	
The train from Derby sets off at 11.30am. It gets delayed by 15 minutes. Draw the hands on the clock to show the new departure time.
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The train from Nottingham leaves at 11.30am and arrives in Chesterfield at 12.05pm.  How long is the journey?
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